Birzeit University
 Homework 3.

Name: Aya Manassra h
ID: 1202109


    1. A study is conducted to evaluate the relationship between serum cholesterol level and the occurrence of myocardial infarction in women.

In the study 500 women with high serum cholesterol levels and 500 women without high serum cholesterol levels were followed over a 10 year period. During the study 40 of the women with high serum cholesterol levels and 15 of the women with normal serum cholesterol levels develop a newly diagnosed myocardial infarction.

Calculate absolute risk ( risk difference ) and calculate the AR% (EAF) and PAF.

Solution: 

RD= Re- Ro

RD= (40/500)- (15/500) 

= 0.05

AR%= EAF = (Re-Ro)/Re

= (40/500)-(15/500)/(40/500)

= 0.625*100

= 62.5%

PAF= RT-Ro/RT
=(55/1000)-(15/500)/(55/1000)

= (0.055-0.03)/(0.055)

= 0.454*100

= 45.4%
3. Case-control study- pancreatic cancer and coffee drinking


 pancreatic cancer

                            cases                                         controls

	28
	280

	140
	2600


                     168                                      2880
a) calculate the OR.
b) Calculate the prevalence of coffee drinking in this population ( estimated from the prevalence in controls).

c) Calculate the  population attributable fraction (PAF)
d) What does this result mean?

Solution: 
a) OR= Odds of exposure among cases / Odds of exposure among controls 
OR= 28*2600/140*280

OR= 1.85

b) Pe= 280/2880

= 0.097*100

= 9.7% 

c) PAF= we can’t calculate it in the case- control study, but we can estimate it: 

PAF= Pe* (OR- 1)/ Pe(OR-1)+1 

= 0.097*(1.85-1)/ 0.097*(1.85-1)+1

= 0.082/1.082

= 0.07*100

=7.5%

d) It  means that we can prevent (protect) 7.5% of the population from pancreatic cancer if they stop drinking Coffee ( If coffee is proved to be the cause of pancreatic cancer).
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